
1.125
3.87

5.406

19.00

2.50
1.13

10.91

1.00 1.00
4.06

13.00

5 15

6 15
1

7

4 2

9

1213

B (4)

8

3 14

11

1.81

2.50

4.50 I.D.

SALES NOTES:
1.) FOR INSTALLED FIFTH TERM. ASS'Y ORDER CAT. #K5T.
2.) STUD TYPE UNITS SUPPLIED WITH 3/8-16 HEX. NUTS
     WITH BELLE. WASHERS FOR CONN. KITS ORDER AS
     EXTRA: K1539 (350 kcmil).

PRODUCTION NOTES:
1.) WHEN CAT. NO. HAS SUFFIX
     -K1 FACTORY INSTALL (3) #1028221 1-POS.
     350 kcmil CONNECTORS ON STUDS.
     IF LINE CONN. ARE NOT DESIRED OMIT KIT NO. WHEN ORDERING.
2.) WHEN SOLD W/ "R" PREFIX, UNIT TO BE SINGLE PACKED IN CARTON
     #1000181. MDC TO APPLY CARTON LABEL FROM LIST BELOW TO MIDDLE
     OF CARTON SIDE PANEL:
     R2569-O: #1130596

.7501.3121.9382.250

3.44
3.19

2.50

P (4)
A (1)

H (1)S (1)
17

18

10

16

SEE SHEET 2 FOR SHELL WELDMENT DETAIL

ITEM QTY. PART 
NUMBER DESCRIPTION

1 1 1005118 SHELL WELDMENT #1005118
2 3 1001340 EXT. HEX NUT ASS'Y
3 1 1000199 CONNECTOR, 1/0, 1-POS.
4 1 1000364 CONNECTOR, 350 kcmil G/S
5 1 1119653 200A RGLS 350kcmil B & B ASS'Y
6 1 1005286 INSULATOR SUPPORT ASS'Y
7 1 1005285 STAKED GROUND BUS ASS'Y
8 1 1120203 INSULATOR
9 1 1000355 INSULATOR

10 1 1106477 FRONT ASSY
11 2 1000192 SCREW, 10-32 x .562
12 3 1001273 NUT, 3/8-16 HEX W/BELL
13 3 1001270 WASHER, 3/8 FLAT
14 1 1000060 SCW 10-32 X 5/8 SLT HX WSHR
15 4 1000183 SCREW 12-24 x 5/16
16 1 1121242 LABEL, SERIES & U/L
17 1 1000064 LABEL, DANGER
18 1 1000158 PAD WIREMAN, 8.37 x 7.50 
19 1 1000181 CARTON (NOT SHOWN)

2569

Material:

Finish:

Catalog No.:

Title:

Customer:

Drawing No.:

KANSAS CITY, MO  USA

Drawn By:

Scale: NTS
Date:

16 GA. STL.

200A 4T RL 3/8 STUD U SWW METER 
SOCKET

Sheet: 1 of 25-10-05

Tolerances:
Unless Specified Otherwise

X.X
X.XX
X.XXX
X 2

.015

.03

.1

Third Angle

Checked By:

Approved By:

Part Wt.:

REV. DATE DESCRIPTION BY
D.F.NOTE 5: REMOVE HOME DEPOT LABELS (ECO #19381)4/26/10A2

B
B1

7/9/18
04/11/19 

CHANGE 1001340 QTY TO (3); REMOVE CHART AND THE INACTIVE PART #s
MOVED LOCATION OF LABEL #1121242

JH
TB

Wednesday, April 24, 2019 2:33:47 PM dleach

Shear/Die No.:

MILBANK LIGHT GRAY

R OR U2569-O

MIN-STATES

JRS

2569

Paint Qty.:

LBS. EA.

GRAMS

ECO No.

038978
041524



 19.00 O.D. 

 13.00 O.D. 

2

1

3

 4.50 I.D. 

SEE DRAWING 1167313 FOR MILBANK WELDING GUIDELINES

ITEM QTY. PART 
NUMBER DESCRIPTION

1 1 1000204 TOP
2 1 1005049 BACK
3 1 1000236 BOTTOM

2569

Material:

Finish:

Catalog No.:

Title:

Customer:

Drawing No.:

KANSAS CITY, MO  USA

Drawn By:

Scale: NTS
Date:

16GA. GALV. STEEL

SHELL WELDMENT #1005118

Sheet: 2 of 25-10-05

Tolerances:
Unless Specified Otherwise

X.X
X.XX
X.XXX
X 2

.015

.03

.1

Third Angle

Checked By:

Approved By:

Part Wt.:

REV. DATE DESCRIPTION BY
D.F.NOTE 5: REMOVE HOME DEPOT LABELS (ECO #19381)4/26/10A2

B
B1

7/9/18
04/11/19 

CHANGE 1001340 QTY TO (3); REMOVE CHART AND THE INACTIVE PART #s
MOVED LOCATION OF LABEL #1121242

JH
TB

Wednesday, April 24, 2019 2:33:47 PM dleach

Shear/Die No.:

MILBANK LIGHT GRAY

 

JRS

2569

Paint Qty.:

LBS. EA.

GRAMS

ECO No.

038978
041524


